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2.99 A tank of cross-sectional area A is filled with a liquid of ! 3 l

specific weight v as shown in Fig. P2.99a, Show that when a i f

cylinder of specific weight v, and volume V is floated in the lig- Al v O

uid (see Fig. P2.99b), the liguid level rises by an amount . Cs hl

Ah = (y,/ ) V/A. ¢ ]
H

As.
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Wt WEJ;Q}Q?‘ mc.cy/mder = 5;%/ MFIGURE P2.99
For equilibrivm
W = weight of liguid displaced = 8 h, Ay =¥ Y where % =h, A
Thu{,
LY =0%, or

flowever, fhe final volvme within $he ank /s equal fo the 1hit1al
volume plic the volume , Y.  of {he cylinder that issvbmerged.
77}511 f:J

(H+ah)A = HA +¥%

or
_% &Y
ali= p=g ¥
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